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BIE B E B TE IS5 X% BIFEHE R (uSv/h)
10829H ik 1m 0.088
1558 ~ B/t =l #h_E50cm 0.086
16:02 #h_F 10cm 0.086
10829H #hF1m 0.094
1550 ~ # EF/NER =l #h_E50cm 0.094
15:54 #h_F 10cm 0.092
10829H ik 1m 0.088
1530 ~ BN £ #h_F 50cm 0.088
15:34 #h_F 10cm 0.084
10829H #hF1m 0.090
1507 ~ BRI N =D #h_E50cm 0.084
15:11 #h_F 10cm 0.084
10829H ik 1m 0.098
11:20 ~ L5 B /e BEhn #h_F50cm 0.098
11:24 #h_F 10cm 0.100
10829H #hF1m 0.098
1450 ~ LB /IhER =) #h_F50cm 0.098
14:54 #h_F 10cm 0.096
10829H #hF1m 0.092
1006 ~ RV SPIN=2E oA £ #h_F50cm 0.090
10:10 #h_F 10cm 0.088
10829H #hF1m 0.090
1025 ~ EBINFER =l #h_E50cm 0.088
10:29 #h_F 10cm 0.088
10829H #hF1m 0.096
9:55 ~ ERRINERR =D #h_E50cm 0.096
9:59 #h_F 10cm 0.096
10829H #hF1m 0.076
10:35 ~ L/ £ #h_F50cm 0.074
10:39 #h_F 10cm 0.074
10829H #hF1m 0.092
9:32 ~ RN £ #h_F 50cm 0.094
9:36 #h_F 10cm 0.092
10829H #hF1m 0.086
1105 ~ IR /N BEh #h_F 50cm 0.088
11:09 #h_F 10cm 0.090
10829H #hF1m 0.098
10:56 ~ o ER /N AR £ #h_F50cm 0.096
11:00 #h_F 10cm 0.096
10829H #hF1m 0.102
11:40 ~ INIINER =l #h_F50cm 0.098
11:44 #h_F 10cm 0.098
10829H #hF1m 0.088
1151 ~ =E/NER =D #h_F50cm 0.088
11:55 #h_F 10cm 0.092
10829H #hF1m 0.086
12.05 ~ BAEHAFEY INER Bh #h_F50cm 0.084
12:09 #h_F 10cm 0.086
10829H #hF1m 0.149
13:15 ~ P NE L o £ #h_F50cm 0.151
13:19 #h_F 10cm 0.155




I BB BITE ISP BIFEFEE (U Sv/h)
10A29H #hF1m 0.120
13:30 ~ 1B FFET VR #h_F50cm 0.112
13:34 #h_F10cm 0.114
10A29H #hF1m 0.080
13:55 ~ SAIEEINVER #h_F50cm 0.076
13:59 #h_F10cm 0.074
10A29H ik 1m 0.074
1415 ~ SAIELILINERR #h_F50cm 0.074
14:19 #h_F10cm 0.076
10A29H #hF1m 0.082
1515 ~ Ft LB — g #h_E50cm 0.080
15:19 #h_F10cm 0.082
10A29H ik 1m 0.067
11:31  ~ Ft LR ER #h_E50cm 0.065
11:35 #h_F10cm 0.065
10A29H #hF1m 0.088
1536 ~ R #b_F50cm 0.090
15:40 #h_F10cm 0.086
10A29H ik 1m 0.096
1015 ~ TR #b_F50cm 0.094
10:19 #h_F10cm 0.090
10A29H #hF1m 0.088
1045 ~ ERRFER #h_E50cm 0.088
10:49 #h_F10cm 0.088
108298 #F1m 0.096
941 ~ ik osleeleak sy #b_F50cm 0.094
9:45 #h F10cm 0.071
108298 #hF1m 0.088
13:05 ~ g B hFER #b_F50cm 0.086
13:09 #h F10cm 0.086
108298 #F1m 0.090
1408 ~ ITB[A==)=a 53 #b_F50cm 0.092
14:12 #h F10cm 0.092




